For 1 — 2, find the value measure of the variables.

4. The two triangles are congruent. Find the missing side lengths and the missing angle measures.

10.4m t= 3‘5.? u= qv’

3. Use the information given in the diagram. Tell why each statement is true.
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5. Given AQRS = ATUV, draw the two m%bel, and find the measure of the given angles and the
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6. Fill in the following congruence statement.
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7. On the diagram, two angles are marked. Mark the side that is considered the included
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6. On the diagram, two sides are marked. Mark the angle that is considered the included
angle in relation to these two sides.
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8. Put an "X" in the table to indicate which combinations of three pairs of congruent parts
guarantee two triangles congruent.

Proves congruence Does not prove congruence
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9. REINFORCE Suppose APQR = APSR. 10. REINFORCE

D
a. Write out the congruence statements indicating which corresponding sides of the two a. Given two triangles with corresponding angles
triangles are congruent. I Commdl and sides as marked congruent on this diagram,
—_— j P :\l., — why is it not possible to conclude that the two
_Pée p— “P triangles are congruent? S
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b. Sketch“the two congruent triangles. ()( S \NV] l CV\ a OQSY){- F)’D!\_‘é
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. Add one set of tick marks to the diagram below !
to obtain a pattern in which the two triangles
are congruent. Write out the congruence
statement and indicate the congruence

postulate you used. Lig:S‘ L Q
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